Q1.
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potatoes

carrots
£1.50 per kg £1.80 per kg
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Jack buys 2 kg of potatoes and 2 kg of carrots.

How much change does he get from £5?
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Q2.
Here are three symbols.
< > =
Write one symbol in each box to make the statements correct.
¥4
S 0.07
10
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Calculate the size of angles @ and b in this diagram.
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Q4.
Here is the morning timetable for Chen’s class this week.
Time Mon Tue Wed Thu Fri
9:00 am — 10:30 am Maths English Maths English Maths
10:30 am — 11:00 am Break Break Break Break Break
11:00 am — 12:00 pm English Maths Science Maths English
What is the total number of hours for English on this timetable?
hours
1 mark
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3 pineapples cost the same as 2 mangoes.

One mango costs £1.35

How much does one pineapple cost?
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